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— JPIMWKRY RAR PPNOINA X172
Is 71''1 coming to teach us what we learnt in our 71wn

OVERVIEW

The X713 initially stated that our 7I1wn teaches us that 7vp *0212 PPN X as
X117 27 indicated elsewhere. The X3 immediately asks if our miwn teaches
this, why does 71" repeat it. m»doIn will explain what is meant by the
question; ‘why does 71"7 have to repeat what it says already in the mwn’.

mooIn anticipates a difficulty:
= JUP Y0330 )P 1IN XOX DNN XN 29 99X XY XNT NN 29 VP XPNTIND

Mentioning X117 29 was not specific. The question of the X713 is not on 7"9
per se, for 11''1 is not discussing there' the rule of Jvp *0312 PPN TR, but
rather 7"7 was teaching the rule concerning whether 7"°2 appoints a

relative to administer the estate of a minor.”
= PHINNN )YNY NY XM

And this ruling is not derived from our 732». Why does the X3 ask, X177 2™
TPVIWRY ROR PI0INN?

mooIn replies:
- 31\7? Y032 PPOINN PRT NN 297 NI YRV 0NN P77 N2 92195 NON

But rather the X723 means to ask on X29, who infers there from the
abovementioned ruling of 73"9, that we can derive from the ruling of 7''9

that one cannot make a P17 in the properties of a Jup. This is what X21
derives from X177 29. Our X713 asks on this derivation of X271 —
$IVINYND NN IND

What is X271 coming to teach us that we can derive from 71"9 that 0213 PP IR PR
1P, when we know this already from our mwn !t

SUMMARY

%, 0% ®yo¥n X223

? 7" maintains that we do not appoint a relative to administer the estate of a minor, out of concern that the
relative may eventually claim that he is the proper heir to the estate, and not the minor.

* If the rule would be that J0p °0212 PP iy, then why does 3"1 merely state that Jop *051% 219p P70 TR, we
cannot appoint anyone to administer the minor’s estate; out of concern that they may later claim that they
bought it from the father and they have a o°1w "3 npin.

4 Presumably the reason the X713 mentions 11", is because X237 derives it from 7"7 (and [also] because
initially the X3 stated 121 71 PR 7"9X7 77"7721. See ‘“Thinking it over’ # 1).
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The question J1°¥1MWK? °NX PR°INM R1T 27 is really on X271 who derives the
rule of Jup 0212 PP N PR from a ruling of 7".

THINKING IT OVER
1. Why did not moo1n ask his question when the X913 initially said: 7"
0P 0213 TPPIN TR 71"R7?° Mmooin should have asked that 11"7 never said it.

2. How are we to understand the (first) answer of the X 231 that Xp17 7"
TRp PRvannT'?°

3 See footnote # 4.
® See X"wmn.
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